6.3/6.2 Solving Differential Equations Formative Check-in Name: Period:

1)

Given the differential equation % = — :f!%, find the particular solution, y = f(z),

with the initial condition f(—1) =
A)y=Vv-2x+3

B)y = i/-3x%2+30

C)y= —-3x2+24

D)y=v—2x+7

E)y= +-3x2-10

6.3/6.2 Solving Differential Equations Formative Check-in Name: Period:
1)

Given the differential equation % = — %% , find the particular solution, y = f (z),

with the initial condition f(—1) = 3.

Ay=+vV-2x+3
B)y= Y-3x2+30
Oy= VFEEn
D)y=+V-2x+7
By= 310




2) Given the differential equation i—x = 6y , find the particular solution, y = f(x), with the initial condition -
f(0)=2

3
Ay= /—5x2+x+2

B)y= -3x2+36x+4

C)y = In|18x — 3x?| + 2
D) y = 61895—-3962 +2

E) y = 2618x—3x2

2) Given the differential equation 5{—; = 6y , find the particular solution, y = f(x), with the initial condition
f(0)=2

3
Ay = ’—§x2+x+2

B)y=+/-3x2+36x+4

C)y =In|18x — 3x?%| + 2
D)y= ele—3x2 +2

E)y= 2p18x-3x?




6.3/6.2 Solving Differential Equations Formative Check-in Name: k~ L'f

. Period:
1) J
Given the differential equation g_y : 255’, find the particular solution, y = f(z),
with the initial condition f(—1) = 3. (- 3)
T3 e 3
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6.3/6.2 Solving Differential Equations Formative Check-in Name:

1)
dy

Given the differential equation = = — %‘? , find the particular solution, y = f (m),

‘with the initial condition f(—1) = 3.

Ay=+V-2x+3
By = YT
Oy=-3x2+24
D)y=+-2x+7
E)y=+-322-10




!

2) Given the differential equation EZ—Z = 6y , find the particular solution, y = f(x), with the initial condition

f(0) =2
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2) Given the differential equation ;;Tx = 6y , find the particular solution, y = f(x), with the initial condition

f0) =2 a
-

3
Ay= ‘——2-x2+x+2

B)y = /—3x%2 + 36x + 4

C)y =In|18x — 3x2| + 2
D) y= ele—-Ex2 +2

E)y= 218x-3x?



6.3/6;2 Differential Equations Formative Check Part2 Name: Period:
1)

Given the differential equation % = é%/—i, find the particular solution, y = f(z),

with the initial condition f(—3) = 6.

6.3/6.2 Differential Equations Formative Check Part2 Name: Period:

1)

Given the differential equation g—g = &”y;l-, find the particular solution, y = f(z),
with the initial condition f(—3) = 6. |




2)
What is the particular solution to the differential equation 5(% — 2y with the initial
condition (3) = e?

2)

What is the particular solution to the differential equation %{— = 22y with the initial
condition y(3) = e?



6.3/6.2 Differential Equations Formative Check Part2 Name:
1)

Period:

Given the differential equation 31%’ 2z . 1 find the particular solution, y = f(z),

with the initial condition f(=3) = 6.

6.3/6.2 Differential Equations Formative Check Part2 Name: '
1)

Period:

Given the differential equation ;ly 2z—1

~with the initial condition f(—3) = 6.
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2)

2)

What is the particular solution to the differential equation 5& = g2y with the initial '
q dx y cg

condition y(3) = €7
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What is the particular solution to the differential equation g—g— = z?y with the initial

condition y(3) = 7
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6.3/6.2 Solving Differential Equations Mini WS #3 Name: Period:

1. Given the differential equation, ww' = t2sec?(2t®), find the particular solution, w = f(t), with the initial
condition w(0) = —4.

6.3/6.2 Solving Differential Equations Mini WS #3 Name: Period:

1. Given the differential equation, ww’ = tZsec?(2t3), find the particular solution, w = f(t), with the initial
condition w(0) = —4. ,




2. Given the differential equation, yxlnx —y
condition f(e) = e

2. Given the differential equation, y'xInx —y = 0, find the particular solution , y = f(x), with the initial
condition f(e) = e




6.3/6.2 Solving Differential Equations Mini WS #3 Name: _ e (4 Period:

1. Given the differential equation, ww’ = t2sec?(2t?), find the partlcular solution, w = f(t), with the initial
condition w(0) = —4.
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6.3/6.2 Solving Differential Equations Mini WS #3 Name: Period:

1. Given the differential equation, ww' = t2sec?(2t®), find the particular solution, w = f(t), withthe initial
condition w(0) = —4. ’




2. -Given the differential equation, y'xlnx — y = 0, find the particular solution, vy = f(x), with the initial kej
condition f(e) = e

"M :X Xm
\

¢ | X U

= ,ﬂ./ml-f C |
:,ﬂ.{ﬂx{ﬂ:

ﬂlﬂnx’#a
=€

2. Given the differential equation, y'xlnx —y = 0, find the particular solution , y = f(x), with the initial
condition f(e) = e




